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SGRB ver 95c of 2016 Nov 7 run on 2016-12-28 12:02:34
TO = 504633438.008000 = 2016-12-28 15:57:14.008000
Algr: 4. PO1 of FOOO1: glg_tte b0 161228 15z vO0O

J 102 to 1000 keV
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SGRB ver 95c of 2016 Nov 7 run on 2016-12-28 12:02:34
TO = 504633438.008000 = 2016-12-28 15:57:14.008000
Algr: 4. PO1 of FOOO1: glg_tte b0 161228 15z vO0O

104 to 976 keV
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SGRB ver 95c of 2016 Nov 7 run on 2016-12-28 12:02:34

TO = 504633438.008000 = 2016-12-28 15:57:14.008000
Algr: 4. PO1 of FOOO1: glg_tte b0 161228 15z vO0O
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